
ALGEBRA I QUIZ 1.5
For questions 1-3 solve the equation. 
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(2 points)
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(2 points)
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(2 points)


For questions 4-5 solve the equation for the given variable.

4.
dx + fy = g; y









(1 point)

5.
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(1 point)


6.
Susie has designed an exercise program for herself.  One part of the program requires her to walk between 25 and 30 miles each week.  She plans to walk the same distance each day five days a week.  Write an inequality to show the range of miles that she should walk each day?


 (2 points)

7.
A student scored 83 and 91 on her first two quizzes. Write and solve a compound inequality to find the possible values for a third quiz score that would give her an average between 85 and 90.     (2 points)


For questions 8-12 solve and graph the solution to the inequalities.

8.
5(x + 3) > 7 – 6(2x – 3)








(2 points)    



9.
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(2 points)

10.
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(3 points)
 

11.
| 3 – 2 (x – 2) + 5 | < 2






    

(3 points)

12.
7|3y – 4| – 8 > 48








(3 points)

13.
The ideal width of a safety belt strap for a certain automobile is 5 cm. An actual width can vary by at



most 0.35 cm. Write and solve an absolute value inequality for the range of acceptable widths.





 





(2 points)

14.
Performance Task


Scarlet has to build a rectangular pen for her peacock, Paulie. Scarlet has P feet of fencing.
a. Scarlet decides the length of a rectangle will be 5 centimeters less than twice its width.  Write an equation describing the relationship between P and the width of the pen, w.   Explain your thinking in the context of the problem.





(3 points)
b. Solve the equation for w.  Show your work.




(1 point)
c. Scarlet changes her mind and decides that the width of Paulie’s pen will be double of the length of his pen. Write an equation describing the relationship between P and the width of the pen, w.  Explain your thinking in the context of the problem.



(3 points)
d. Solve the equation for w.  Show your work.




(1 point)
ANSWERS
1. n = +14

2. h = 21 or -7

3. x = 1
                5
4. y = g – dx
                f      f
5. F = 9C + 32

                 5
6. 5 < x < 6

7. 81 < x < 96

8. x > 10;
GRAPH

                17

9. -2 ≤ x < 4; GRAPH

10. x ≤ -10 OR 
x ≥ 2; GRAPH

11. 5 < x < 7; GRAPH

12. y ≤ -4
OR 
y ≤ 4; GRAPH

                 3

13. |x – 5| ≤ 0.35; 4.65 ≤ x ≤ 5.35; GRAPH

14. (a) P = 6w – 10; EXPLAIN


          (b)  w = P + 5


           6    3


           (c) P = 3w; EXPLAIN


           (d) w = P


          3
